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Question Number : 1 Question Id : 64635018055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. Thigs will be related to which level of teaching?

(1) Autonomous development level (2)
(3) Understanding level (4)

Options:

Memory level

Reflective level



E4E35070895. 1
64535070300, 2
64535070301, 3
64535070302, 4

Question Number : 1 Question Id : 64635018055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350708399, 1
E4E350703900. 2
E4E350703901. 3
EAE3507 0902, 4

Question Number : 2 Question Id : 64635018056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(c) Learner's previous experiences

(d) Learner's level of interest to study

(e) Learner's level of interpersonal relation
(fi Learner's view about the society

Select yvour answer from the options given below :

(1) (&), ®), (© and ® (2) (c), (), (e) and (D)
3) (@), ), (c) and (d) @ (b), (), (d) and ()
Options:

645350703903, 1
64535070304, 2
64535070305, 3
EAEZ507 03906, 4

Question Number : 2 Question Id : 64635018056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350703903, 1
64535070304, 2
64535070305, 3
EAE3507 03906, 4

Question Number : 3 Question Id : 64635018057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two columns. Column — A lhists methods of teaching and Column — B lists the
focus of a method. Match Column — A with Column — B.

Column A Column B
(a) Lecture method (1) Emphasizing the participative procedure
of an act
(b) Demonstration method (i) Experience based learning
(c) Project method (111) Imparting large amount of knowledge
(d) Collaborative method (iv) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) @-0); b)), ©)-@); @-av)
@  (@-a); b)-av); ©-0); (d)-Q)
@  (@-Gi); (b)-0); ©-Gi);, (d-0v)
@  (a-0i); (b)-G); ©-0v); -0

Options:
4535070207, 1
64535070308, 2
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Question Number : 3 Question Id : 64635018057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070907, 1
64535070308, 2
E4E35070909. 2
64535070910, 4

Question Number : 4 Question Id : 64635018058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(a) Giving a mastery test

(b) Conducting quiz session

(¢) Evaluating students in grading system

(d) Providing feedback while teaching

(e) Encouraging students reflect more

Select your answer from the options given below :
1) (a), (b) and (©
@ (b)), ©and(d)
3)  (b), (d) and (e)

@) (), (c) and (e)
Options:
645350709111
64535070912, 2
64535070312, 3
645350709314, 4

Question Number : 4 Question Id : 64635018058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64835070911, 1

E4E35070912. 2

64535070912,

4535070914, 4

Question Number : 5 Question Id : 64635018059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the hist given below, identify those teaching methods which have a great scope for
dialogic discourses.

(a) Lecture with audio — visual aids

(b) Team teaching

(¢c) Tutorials

(d) Problem solving methods

(e) Chalk and talk method

(fi  Group discussions

Select your answer from the options given below :

(1) (&), ®) and () (2) (o), [ and
3) (b, ) and () @ (d), (¢) and ()
Options:

64535070915, 1



EAE35070916. 2
64535070917, 3
64535070918, 4

Question Number : 5 Question Id : 64635018059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535070915, 1
64535070916, 2
645350703917, 3
E4EZ5070915. 4

Question Number : 6 Question Id : 64635018060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Supervisor’'s certification on the thesis

(1) Gives name and fame to the supervisor
(2) Clears different bottlenecks 1in the system
(3) Gives welghtage to the scholar’'s work

(4) Ensures originality of the work

Options:

646350709139, 1
E4E35070920. 2
4535070921, 5
4535070922, 4

Question Number : 6 Question Id : 64635018060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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46350709139, 1
4535070920, 2
64535070921, =
64535070322, 4

Question Number : 7 Question Id : 64635018061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After identifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process 1s to

(1) Conduct survey (2) Generate hypothesis
(3) Focus on group discussion (4) Use experiment in an investigation

Options:

4535070923,
64535070924,
64535070925,
4835070926,

[ N Y

Question Number : 7 Question Id : 64635018061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070923, 1
E4535070924. 2
EAEZ507 0925, 3
EAE3507 0926, 4

Question Number : 8 Question Id : 64635018062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which stage in research creates a working thesis for the research paper by specifying and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Rewview of literature (4) Analysis of data



Options:

64535070927, 1
E4E35070928. 2
4535070929 2
64535070920, 4

Question Number : 8 Question Id : 64635018062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

v i form sraen O Wg W & foau geEmed & afm & AfEfevor qon @t & enar O
ThETeHS Y TEY 6 T a2 7

(1) g AfErey (2) ufeseg Fmm
(3)  wiEed 6 weien ) e favemm
Options:

BAE35070927. 1
64535070928, 2
64535070929, 3
EAE35070920. 4

Question Number : 9 Question Id : 64635018063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
(3) Evaluative research (4) Action research
Options:

E4E35070921. 1
EAE35070932. 2
B4E35070933. 3
64535070924, 4

Question Number : 9 Question Id : 64635018063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350705921, 1
64535070932, 2
E4EZ5070923. 3
EAE35070924. 4

Question Number : 10 Question Id : 64635018064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Reference serves the purpose of
(1) Lending authenticity to the given content (2) Insightful decision making
(3) Giving ornamental value to theresearch (4) Exhibiting the great achievement

Options:

4535070935, 1
64535070936, 2
64535070337, 2
64535070338, 4

Question Number : 10 Question Id : 64635018064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35070935. 1
E4E35070936. 2
BAE35070937. 3
64535070928, 4

Sub-Section Number: 2
Sub-Section 1d: 646350879
Question Shuffling Allowed : Yes

Question Id : 64635018065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension



All great thinkers live and move on a high plane of thought. It 1s only there they can breathe
freely. It 1s only in contact with spirits like themselves they can live harmoniously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. I have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have written the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by contact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destinies — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter's 15 to the spider that weaves her web in a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views 1n prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635018066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Great thinkers are content to live

(1) Amidst crises of civilizations
(2) In lofty thoughts with an exceptional calm
(3) At high altitudes in order to be away from society

(4) With complexities of life and find solutions to them

Options:

64535070939, 1
64535070340, 2
E4E35070941. 2
64535070942, 4

Question Number : 12 Question Id : 64635018067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, our sublime discontent 1s due to

(1) Realization of our lack of contact with God
(2) Acute sensge of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
(4) The contrast between the ideals in great literature and their opposite in the real life
Options:
CAEZE070945 1
CAEZE070944 2

64535070945, 3
645350703946, 4

Question Number : 13 Question Id : 64635018068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bacomian liberal education 1s

(1) A lofty and ideal fantasy

(2) Instrumental in making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

(4) Equivalent to ancient ideas of sublimity

Options:

64535070947, 1
64535070348, 2
4835070949 2
4535070950, 4

Question Number : 14 Question Id : 64635018069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Immortality is the crucial idea constantly being explored by

(1) Ordinary traffickers (2) Great thinkers
(3) Gods who appear to the thinkers (4) Scientists
Options:

64535070951, 1
64535070952, 2
E4E35070953. 3
EAE35070954. 4

Question Number : 15 Question Id : 64635018070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why do great thinkers love solitude?

(1) To be in pursuit of the ideal in the company of immortals

(2) To spend time in peace

(3) Because they are misanthropists

(4) Because the world 1s unhealthy for them
Options:

E4E35070955. 1
E4E3507 0956, 2
B4E35070957. 3
64535070958, 4

Question Id : 64635018065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635018066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070939, 1
64535070940, 2
64535070341, 2
4835070942 4

Question Number : 12 Question Id : 64635018067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070943, 1
E4E35070944, 2
E4535070945. 5
64535070946, 4

Question Number : 13 Question Id : 64635018068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535070947, 1
64535070948, 2
64535070949 =



EAE35070950. 4

Question Number : 14 Question Id : 64635018069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B4E35070951. 1
64535070952, 2
645350703953, 3
64535070354, 4

Question Number : 15 Question Id : 64635018070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835070955, 1
4535070956, 2
64535070957, 2
64535070958, 4

Sub-Section Number: 3
Sub-Section Id: 646350880
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635018071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) is false

(4) (A) 15 false, but (R) is true



Options:

64535070959, 1
E4E350709E0. 2
4535070961, 2
4535070962, 4

Question Number : 16 Question Id : 64635018071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535070959, 1
4535070960, 2
64535070961, o
64535070962, 4

Question Number : 17 Question Id : 64635018072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A basic principle of effective class room communication 1s that one should adapt his or her
OWT1 to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
(3) Message (4) Mannerism
Options:

64535070362, 1
E4EZ507 0964, 2
EAE3507 0965, 3
BAE3507 0966, 4

Question Number : 17 Question Id : 64635018072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E3507089E3. 1
EAE3507 0964, 2
EAE3507 0965, 3
BAE3507 0966, 4

Question Number : 18 Question Id : 64635018073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection (4) Advocacy
Options:

BAE35070967. 1
64535070968, 2
645350703969, 3
EAEZ5070970. 4

Question Number : 18 Question Id : 64635018073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4535070967. 1
64535070968, 2
E4E35070369. 3
EAEZ5070970. 4

Question Number : 19 Question Id : 64635018074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In communication process, body language 18 associated with

(1) A culture (2) A movie audience

(3) A classroom situation (4) A subject taught

Options:



EAE35070971. 1
BAE35070972. 2
BAE35070973. 3
64535070974, 4

Question Number : 19 Question Id : 64635018074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070971, 1
64535070972, 2
E4E35070972. 2
E4E35070974. 4

Question Number : 20 Question Id : 64635018075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Local and face-to face commumnication 1s referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options:

B4E35070975. 1
BAE35070976. 2
4535070977, 3
E4E35070978. 4

Question Number : 20 Question Id : 64635018075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 A -0 =1 1 F27 Hgl 41 2 7
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Options:

4835070975, 1
E4E35070976. 2
4535070977, 3
64535070978, 4

Question Number : 21 Question Id : 64635018076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct alternative.
Cup 1g to coffee as bowl 15 to

(1) Dish (2) Soup
(3)  Spoon 4) Food
Options:

B4E350709759. 1
64535070980, 2
64535070981, 3
EAE3507 0982, 4

Question Number : 21 Question Id : 64635018076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e fawed I : 9 R FTE T A FEY 2 99 F9d HeU $R T 2|
(1)  =asH (2) HU

(3) == (4) IT=F

Options:

B4E350709759. 1
64535070980, 2
64535070981, 3
4535070952, 4

Question Number : 22 Question Id : 64635018077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sixth number in a sequence of numbers 15 32 and each number after the first number in
the sequence 1s 4 less than the number immediately proceeding 1t. What 1s the third number
1n the sequence?

(1) 36 (2) 40
(3) 44 4) 48
Options:

64535070953, 1
64535070954, 2
E4E3507 0985, 3
EAE3507 0986, 4

Question Number : 22 Question Id : 64635018077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret T w0 A o8 wE 32 R 3R 3| wI U vem UEw % W ARael Y% Hedl 36E A% gge
arefl T H 4 9 2| 36 gEal H q|i qem e 27

(1) 36 (2) 40
(3) 41 4 48
Options:

64535070983, 1



EAE3507 0984, 2
B4E35070985. 3
B4E3507 0986, 4

Question Number : 23 Question Id : 64635018078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of
boys to girls in the class is 4 : 3, then what 1s the portion of the students in the class having
blue eyes?

(1) 12/ 33 2y 1445
@ 11/45 @ 11/70

Options:

4835070987,
E4E3507098E.
4535070989,
64535070990,

[

Question Number : 23 Question Id : 64635018078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foeft e © 20% o=l I o el ? et 10% wsfEd 6 e et 21 afE wan § @S &
agferdi &1 o 4 ¢ 3 2 @1 wen ° Neft o€ g fgenfd= o s 27

(1) 12/33 (2) 14/45
(3) 11/45 @ 11/70
Options:

E4535070987. 1
64535070988, 2
E4E3507 0989, 3
EAE3507 0930, 4

Question Number : 24 Question Id : 64635018079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During one vear, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginmng of the first year?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

E4E35070991. 1
BAE3507 09392, 2
B4E35070983. 3
64535070934, 4



Question Number : 24 Question Id : 64635018079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el TR i SEE H UH a¥ 5% 6 ghE T3 IR O a9 e ° 5% @i fiuae o) 3fg gh |y
& ¥d U FA AEEN 29925 2 1 WUH A9 F WA H TR AEE o6 ?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

645350709391, 1
E453507093z2. 2
E4E3507 0933, 3
EAE3507 09394, 4

Question Number : 25 Question Id : 64635018080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years 1s Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

(1) 4% 2 6%
3) 8% @) 10%
Options:

64535070935, 1
E453507093E. 2
EAEZ5070937. 3
E4E3507 09398, 4

Question Number : 25 Question Id : 64635018080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt w=fst =1 5% 1 T W WEw AW 420 WY 2 A R6E 9 2 O 34t #@ gt w96 %
TSI S T 3a<t € Tl e E et 27

1) 4% (2) 6%
@ 8% @ 10%
Options:

E4E35070985. 1
EAE3507 0996, 2
BAE35070987. 3
64535070938, 4

Question Number : 26 Question Id : 64635018081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘All children are not greedy’ 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
(3) Particular affirmative (4) Particular Negative
Options:

B4E35070995. 1
64535071000, 2
64535071001, 3
E453507100Z. 4

Question Number : 26 Question Id : 64635018081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At o= AT T2 2| 98 6 9 99E W TR R

(1)  AEATs AfaasEs (2) TS TiaeT=E
@) fafe afte=s (4) Tabe afeE=Es
Options:

E4E35070995. 1
64535071000, 2
64535071001, 3
4535071002, 4

Question Number : 27 Question Id : 64635018082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The argument which claims that its conclusion 1s conclusively supported by its premises 1s

called

(L) Analogical Argument (2) Inductive Argument
(3) Demonstrative Argument (4) Deductive Argument
Options:

E4E35071003. 1
64535071004, 2
64535071005, 3
E4E3507100E. 4

Question Number : 27 Question Id : 64635018082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a7 %, fored 38 s W = &1 st 2 56 send wm fews enenfemett gro gota: wwfifa 2, seam 2:
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Options:



E4E35071003. 1
64535071004, 2
64535071005, 3
64535071006, 4

Question Number : 28 Question Id : 64635018083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B
both are teaching English and Geography. D and A both are teaching Punjabi and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

(1) A 2y B
(3) D 4 CandE
Options:

EAE35071007. 1
E4E35071008. 2
64535071005, 3
64535071010, 4

Question Number : 28 Question Id : 64635018083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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SR syt =1 fver = W @ F1 D it A 2 domst oi fed @ freor w5 @ ¥ E 3 B @
i ot = 1 frem =@ #

T AH § ¥ B F@TE Afehan T = fem s @27

®» A 2 B
@ D 4 CeRE
Options:

E4EZ5071007. 1
E4E35071008. 2
64535071005, 3
64535071010, 4

Question Number : 29 Question Id : 64635018084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the example provided below :

“There 15 no jar now on the ground”

Identify the means of knowledge (Pramana) involved 1n the example from the options given
below :

(1) Anupalabdh (2) Arthapatti
(3) Pratyaksha (4) Anumana



Options:

64535071011, 1
4835071012 2
4535071012 2
64535071014, 4

Question Number : 29 Question Id : 64635018084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635071011, 1
64535071012 2
64535071013 =
64535071014, 4

Question Number : 30 Question Id : 64635018085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument given below :

“Sound is permanent because it is audible”

Identify the fallacy invelved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
(2) Fallacy of irrelevant reason
(3) Fallacy of contradictory reason

(4) Fallacy of wrong assertion
Options:
E4E35071015. 1
E4E35071016. 2
64535071017, 3
645350710158, 4

Question Number : 30 Question Id : 64635018085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071015 1
64535071016, 2
64535071017, 5
64535071018, 4

Sub-Section Number: 4
Sub-Section 1d: 646350881
Question Shuffling Allowed : Yes

Question Id : 64635018086 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population 1n these
cities. Total population of these a1x cities 18 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult

A 21 4:3 60
B 18 i 64
§ 16 5 | i
D 20 2:8 70
E 10 1 B 15
F 15 a3 65

Sub questions

Question Number : 31 Question Id : 64635018087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the total number of male population 1in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh (4) 2.04 lakh
Options:

64535071015, 1
64535071020, 2
64535071021, 3
EABE35071022. 4

Question Number : 32 Question Id : 64635018088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

64535071023, 1
64535071024, 2
64535071025, 3
EAEZE07 1026, 4

Question Number : 33 Question Id : 64635018089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the difference between the number of males and the number of females in City B?

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

4535071027, 1
EAE3507 1028, 2
EAE35071023. 3
BAE35071020. 4

Question Number : 34 Question Id : 64635018090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 825% (2) 87.75%
(3) 92.5 % 4 93.75%
Options:

E4E35071021. 1



EAE35071032. 2
E4E35071033. 3
64535071024, 4

Question Number : 35 Question Id : 64635018091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAE35071035. 1
E4E35071036. 2
B4E35071037. 3
64535071028, 4

Question Id : 64635018086 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Trafatea afeem e o8 =0 A - F &t S7eE & Jiawa faawn, @9 e Afgen o ok 3=
Wl H ok wafhedt 1 ufawa guian mn 2, W famm fRsiv) 37 97 TR i F9 SEe 24 9nE 2
afeteht & S8R W9 | 31-35 % IR feefi

& -aN STEET

T ST H % T % aICh
A 21 4:8 60
B 18 5:4 64
C 16 5.8 72
D 20 2.3 70
E 10 gl 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635018087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D-¥g § 769 i1 $a FHE 27

(1) 1.88d@@ (2) 1.92 @M@
(3) 1.96 &g 4) 2.0491E
Options:

E4E35071013. 1
6435071020, 2
64535071021, 3



BAEZ5071022. 4

Question Number : 32 Question Id : 64635018088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C-9 1§ 37 =afeal €1 g frat 2 < auF 74 27

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

EAE35071023. 1
BAE35071024. 2
64535071025, 3
4535071026, 4

Question Number : 33 Question Id : 64635018089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B-3ret 1 g9 R afgen & @@ 1§ fran s 27

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EAE35071027. 1
BAE35071028. 2
64535071029, 3
64535071030, 4

Question Number : 34 Question Id : 64635018090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D-3r&t § go8i 6 el T & feha afasm E-vet 09U 27

(1) 825% (2) B871.75%
3) 925% 4) 93.75%
Options:

E4E35071021. 1
BAE35071032. 2
64535071033, 3
64535071034, 4

Question Number : 35 Question Id : 64635018091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F-vi2t 1 feha =afts aoeh 27

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

E4E35071035. 1
EAE35071036. 2
BAE35071037. 3
64535071028, 4

Sub-Section Number: 5
Sub-Section 1d: 646350882
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1) Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options:

64535071025, 1
64535071040, 2
64535071041, 3
EAE35071042, 4

Question Number : 36 Question Id : 64635018092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tote Fior ° 2rmaent efiemtes Tiha O gsat 21 35 fOu Fe Iiredat 1 33 o st =nfEe ?

1) EEe (2) USeIH
(3) 9 JEfEm (1) TR wfsafsm
Options:

64535071039, 1
E4E35071040. 2
E4E35071041. 3
BAE3507104%, 4

Question Number : 37 Question Id : 64635018093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of I'T/ICT, which one of the following statements about spamming is true?

(1) Spamming 18 posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming is sending lines of nonsensical garbage in a chat conversation

(3 Spamming 1s posting a message that contains graphic description of something
offensive

(4) Spamming 1s an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options:

E4E35071045,
4535071044,
4535071045,
64535071046,

[ N

Question Number : 37 Question Id : 64635018093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071043,
64535071044,
4835071045,
4835071046,

[ N

Question Number : 38 Question Id : 64635018094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A wvirus type that is capable of transferring from one computer to another without any ‘user
interaction’ 1 known as

(1) Worm (2) Troan
(3) Key logging (4) Boot sector virus
Options:

EAE35071047. 1
E4E35071048. 2
64535071045, 3
64535071050, 4

Question Number : 38 Question Id : 64635018094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071047, 1
E4E35071045. 2
E4E35071043. 3
E4E35071050. 4

Question Number : 39 Question Id : 64635018095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM 1s non-volatile and the amount of RAM 1n a computer system cannot affect its
performance

(2) RAM iz non-volatile and the amount of RAM in a computer system can affect its
performance

(3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

(4) RAM 18 volatile and the amount of RAM 1n a computer system can affect its
performance

Options:

64535071051, 1
64535071052 2
E4E35071052. 2
64535071054, 4

Question Number : 39 Question Id : 64635018095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Random Access Memory (RAM) & 91 § ffafga § o =9 @1+ w2t 2:
(1)  RAM amftaddig 2 ot g fawen § RAM <t amn 8 3gert * Foare qafeq =2 2 21
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Options:

64635071051, 1
64535071052, 2
64535071053 =
4835071054, 4



Question Number : 40 Question Id : 64635018096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the binary equuvalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 4) 1001011
Options:

64535071055, 1
E4E3507 1056, 2
EAE35071057. 3
B4535071058. 4

Question Number : 40 Question Id : 64635018096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZEed wEE 75 6 fg-enamt angents #9127

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options:

E4E35071055. 1
64535071056, 2
64535071057, 3
64535071058, 4

Question Number : 41 Question Id : 64635018097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
(3) 60.0 GW (4) 100.0 GW
Options:

64535071059, 1
64535071080, 2
EAE35071061. 3
EAEZ5071062. 4

Question Number : 41 Question Id : 64635018097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 40.0 Tfimmane (2)  50.0 TrmEre
(3)  60.0 TTER (4)  100.0 TfTTETe
Options:

64535071059, 1
E4E35071080. 2
EAE35071061. 3
EAEZ5071062. 4

Question Number : 42 Question Id : 64635018098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many National Missions of Indian Government are there to address the problem of
chimate change?

(1) 6 (2) 8
(3) 12 @ 17
Options:

64535071063, 1
64535071064, 2
EAE3507 1085, 3
EAE3507 1066, 4

Question Number : 42 Question Id : 64635018098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SeraTy qiEads S TEe & TEEE % [ ana R F s uge e 2

1y 6 2 8
(3) 12 4 7
Options:

EAE35071063. 1
64535071064, 2
E4E535071065. 3
E453507 1066, 4

Question Number : 43 Question Id : 64635018099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal (4) Nuclear

Options:



EAE35071067. 1
645350710688, 2
645350710645, 3
64535071070, 4

Question Number : 43 Question Id : 64635018099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35071067. 1
E4E3507 1068, 2
645350710645, 3
64535071070, 4

Question Number : 44 Question Id : 64635018100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A geothermal reserve has the stored heat of 5 x 10¥9dJ. If the over all efficiency of a
geothermal power plant based on this reserve 1s 0.04, how much power can be produced by
the plant in 1 year?

(1) ~0.32 GW (2) ~064GW
(3) ~ 262 GW 4 ~63.41GW
Options:

E4E35071071. 1
BAEZ5071072. 2
BAE35071073. 3
B4E35071074. 4

Question Number : 44 Question Id : 64635018100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  ~0.32 Tmare (2) ~ 0.64TmMETRE
(3) ~ 2.62 ThrETe 4) ~ 63.41 Trmare
Options:

E4E35071071.1
BAE35071072. 2
6435071073, 3
64535071074, 4



Question Number : 45 Question Id : 64635018101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following materials 1s widely used 1n solar cell fabrication?

(1) Nubidium (2) Silicon
(3) Nickel (4) Chromium
Options:

64535071075, 1
64535071076, 2
EAE35071077. 3
EAE35071078. 4

Question Number : 45 Question Id : 64635018101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350710751
64535071076, 2
E4535071077. 3
EAE3507107E. 4

Question Number : 46 Question Id : 64635018102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The introduction of MOOC 1n open and distance learning programmes 1g justified because of
1ts

(1) Low cost considerations (2) Accessibility considerations
(3) Speed considerations (4) Novelty considerations
Options:

E4E35071073. 1
B4E35071080. 2
64535071081, 3
4535071082, 4

Question Number : 46 Question Id : 64635018102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E350710759. 1
64535071080, 2
64535071081, 3
EAE3507 1082, 4

Question Number : 47 Question Id : 64635018103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
(2) Educational FM radio network
(3) (zlobal imtiative of Academic networks

(4) Online courses
Options:

64635071083, 1
64635071084, 2
64635071085, 3
64635071086, 4

Question Number : 47 Question Id : 64635018103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535071083, 1
64535071084, 2
64535071085, =
64535071086, 4

Question Number : 48 Question Id : 64635018104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which Act University Grants Commission came into existence?

(I)  UGC Act — 1956
(2)  UGC Act — 1949
(3) UGC Act — 1944
@  UGC Act — 1968

Options:

64535071087, 1
4835071088, 2
4535071089, 5
64535071090, 4

Question Number : 48 Question Id : 64635018104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071087, 1
E4E35071088. 2
4535071089 2
64535071090, 4

Question Number : 49 Question Id : 64635018105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following nstitutions was established as a consequence to the closure of

Inter-Umniversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1) Assocration of Central Universities
(2) University Grants Commission

(3) IIAS, Shimla

(4) Association of Indian Umversities

Options:
64535071091, 1



EAE35071032. 2
64535071083, 3
B4535071054. 4

Question Number : 49 Question Id : 64635018105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835071091, 1
64535071092, 2
64535071092, 5
64535071094, 4

Question Number : 50 Question Id : 64635018106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instructional designs 1s part of SWAYAM launched by Government of
India?

(1) E-Tutorial

(i1) E-Content

(111)  Assessment

av)  Disecussion Forum

(V) Classroom teaching

Choose the correct option from below

(1) (1) and (11) only

@ @), (i), Gv) and (v) only
(3) (1), (1), (1) and (v) only
(4) (i11) and (v) only

Options:
64535071095, 1
64535071096, 2



EAE35071037. 3
B4535071038. 4

Question Number : 50 Question Id : 64635018106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071095, 1
64535071096, 2
64535071097, 2
4535071098, 4
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Question Number : 51 Question Id : 64635018107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Sankhya the equlibrium of the three gunas 1s called

It Purusa
2. Mahat
3.  Praknti

4. Subtle essences

Options:

64535071099, 1
64535071100, 2
64835071101, 2
64535071102, 4

Question Number : 51 Question Id : 64635018107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350710459, 1

E4E35071100. 2
E4E35071101. 2
64535071102, 4

Question Number : 52 Question Id : 64635018108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is said to be the immediate knowledge in Jain philosophy?
1. Perceptual knowledge
2.  Inferential knowledge
3.  Knowledge derived from authority

4. Clairvoyance

Options:

64535071103, 1
64535071104, 2
64835071105 2
4535071106, 4

Question Number : 52 Question Id : 64635018108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071103, 1
64535071104, 2
64535071105, =
64535071106, 4

Question Number : 53 Question Id : 64635018109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In terms of Buddhist philosophy, which of the following is contributive to right
knowledge (Pragya)?

1.  Right faith and right resolve
2. Rightresolve and night speech
3.  Right thought and right concentration

4. Rightliving and right effort

Options:



E4E35071107. 1
64535071108, 2
64535071105, 3
64535071110, 4

Question Number : 53 Question Id : 64635018109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835071107, 1
4535071108, 2
64535071109, 5
64535071110, 4

Question Number : 54 Question Id : 64635018110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher is faced with the problem of choosing the appropriate teaching method for
the transaction of a course content. Which branch of philosophy will most appropriately
describe his/her predicament?

it

Metaphysics
2.  Epistemology
3. Axiology

4.  Logic

Options:

64535071111, 1
64835071112 2
4535071112 2
64535071114, 4

Question Number : 54 Question Id : 64635018110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835071111, 1
4535071112 2
64535071112,
64535071114, 4

Question Number : 55 Question Id : 64635018111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The principle of “the child, the school and education itself are shaped largely by social
and cultural forces” was enunciated by

1. reconstructionism

. existentialism

it

pragmatism

4. perennialism

Options:

64635071115, 1
64535071116, 2
64835071117, 2
64535071115, 4

Question Number : 55 Question Id : 64635018111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635071115, 1
64535071116, 2
64535071117, 2
64835071118 4

Question Number : 56 Question Id : 64635018112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The focus of concern of sociology of education, inclassical approach has been on
1.  class conflict resolution
2. political freedom
3. social construction of reality

4.  resources and social networks

Options:
4235071119, 1

E4E35071120. 2
B4E35071121. 3
BAE3507112%. 4

Question Number : 56 Question Id : 64635018112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350711191
4835071120 2
4535071121, 2
64535071122, 4

Question Number : 57 Question Id : 64635018113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Educational practice void of dreams, dissent and pronouncement is neutral and
accomodating.” In terms of this statement, the focus of concern in education should be
on

1. Developing neutrality
2. Promoting impersonal engagement in learning process
3.  Ensuring deeper personal engagement of learners

4.  Teachers’ role to be that of a spectator

Options:

64635071123, 1
64535071124, 2
64535071125 =
64535071126, 4

Question Number : 57 Question Id : 64635018113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350711231
4535071124 2
64535071125,
64535071126, 4

Question Number : 58 Question Id : 64635018114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who defined democracy as a form of government of the people, for the people and by
the people?

lis Mahatma Gandh
2. Abraham Lincoln
3. JohnF. Kennedy

4. George Washington
Options:
64635071127, 1
64635071128, 2
64635071129, 3
64635071130, 4

Question Number : 58 Question Id : 64635018114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fera= o @ ufedw €t & ag s=ar 3, Sar & forg SR S=ar g Taman o 9
= 87

O = 4 <2 K 1

2. S§IEH feiee
3. 9 U SAe!
4. STl AR

Options:

64535071127, 1
4835071128 2
4535071129 2
64535071120, 4

Question Number : 59 Question Id : 64635018115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following Indian thinkers has contributed towards the concept of
integral education?

—
a

Gijubhai Badhera
2. Swami Vivekananda
3.  Mahatma Gandhi

4. S Aurobindo

Options:
6453507115101

E4E35071132. 2
E4E35071133. 3
B4E35071124. 4

Question Number : 59 Question Id : 64635018115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635071131, 1
64535071132 2
64535071133 2
4835071124 4

Question Number : 60 Question Id : 64635018116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following areas is the contribution of Savitribai Phule highly
acclaimed?

1.  Upliftment of Scheduled Castes
2. Resettlement of poor people
3.  Education of women

4. Education of the slum children



Options:

64535071135, 1
4835071136 2
4535071127, 2
64535071128, 4

Question Number : 60 Question Id : 64635018116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350711351

E4E35071136. 2
E4E35071137. 3
645350711258, 4

Question Number : 61 Question Id : 64635018117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following thinkers propagated the idea of education of the most
talented?

I Emanuel Kant
Z. John Paul Sartre
3. Amnstotle

4.  Plato

Options:

E4E35071159. 1
64535071140, 2
64535071141, 5
64535071142 4

Question Number : 61 Question Id : 64635018117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35071159. 1
64535071140, 2
64535071141, 5
64535071142 4

Question Number : 62 Question Id : 64635018118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the following two sets, Set—I mentions the suggested interventions of the Kothar
Commussion in respect of Teacher Education, Set—II provides the concemed target
stage/group :

Set-1 Set-11
(Interventions) (Target Stage/Group)
(a) Two-vyear traimng course (1)  In-service traiming of staff
(b) One-year training course (1)  Unqualified teachers
having 230 working days
(¢) Organization of summer (1) Primary level (Pre-Service Training)

mstitutes

(d) Correspondence courses and (iv) Secondary level (Pre-Service Training)
study leave

Match the two sets and answer from the codes given below :
L (a)-(ui); (b)—(v); (e)-(1); (D)D)
2. (a-v); (b)-(ii); (o)) (1)
3. (a-); (b)-); ()-in); (D)
4. (2)-(); (b)-1); (0)iv); (d)(ii)

Options:
64535071143, 1



E4E35071144. 2
64535071145, 3
64535071146, 4

Question Number : 62 Question Id : 64635018118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (@), (D)-{v); (-, (d-1)
2. (@-Qv); (b)-(i); (e)-1); (D)
3. (@), ()1); (e)iii); (d-1v)
4. (a)-(); (b)(ii); (e)v); (d)(iii)

Options:

48350711431
4535071144 2
64535071145, 5
64535071146, 4

Question Number : 63 Question Id : 64635018119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets, Set—I mentions various commissions on education and Set—II
indicates chief recommendations :

Set-1 Set-1
(Comrmssions) (Recommendations)
(a) Secondary Education (1) Establishment of ‘School Complex’
Commmussion (1952-53) with a nodal school
(b) Education Commission (1) Improving quality of pre-service and
(1964-66) in-service Teacher Education
(¢) National Commission of (111) Establishment of Extension Services
Teacher—I (1980) Department
(d) High-powered Commission (1v) Provision ofin-service training of
on  Teacher  Education specified short period and its linkage
(2012) with career promotion

Match the two sets and give your answer from the options given below :

L. (a)-@); (b)n); (e)-(u); (d)-av)
2. (a)-(); (b)-(m); (c)-Qv); (d)—1)
3. (&) (b)) (e)—1v); (d)—(ii)
4. (a)-v); (b)-(ur); (e)—); (d)—1)

Options:

64635071147, 1

64635071148, 2

64535071145, 3
64535071150, 4

Question Number : 63 Question Id : 64635018119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (a)-(iv); (b)=(iii); (c)-(i); (d)—1)
Options:

645350711471
64535071148, 2
64535071149, 3
E4E35071150. 4
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Question Number : 64 Question Id : 64635018120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are given the steps involved in policy formulation :
(a) Planning of policy implementation
(b) Making a policy decision
(c) Evaluation of policy options
(d) Analysis of the existing situation
(e) Subsequent policy cycles
(f) Generation of policy options
(g) Policy impact assessment

Arrange them in a logical order and answer the question from the options given below :

L. (a), (b),(c), (g), (D), (¢) and {d)
2. (g)®), (), (d),(c), (b)and (a)
3. (). (), (c), (b), (a), (g) and (e)
4. (a), (0, (c), (d), (), (f) and (g)

Options:

64635071151, 1
64535071152 2
64535071153 =
64535071154 4

Question Number : 64 Question Id : 64635018120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535071151,

EAE35071152,
E4E35071153.
64535071154,

[ N

Question Number : 65 Question Id : 64635018121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following statements is related to the “Human Capital Theory™?

1. Itisuseful for describing behaviour when two parties have access to
different information

2. It s the aggregate stock of competencies, knowledge, social and personal
attributes

3. Itis education that raises wages simply because education level is a signal
of workers” ability

4. It holds a prominent position in a variety of management literatures

Options:



E4535071155. 1
64535071156, 2
64535071157, 3
64535071158, 4

Question Number : 65 Question Id : 64635018121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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648350711551
4535071156 2
64535071157, 5
64535071158, 4

Question Number : 66 Question Id : 64635018122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are given some general steps for undertaking cost benefit analysis :

(a)
(b)

(c)
(d)

Describing quantitatively the inputs and outputs of the programme/project

Estimating the social costs and benefits of the inputs and outputs of the
programme/projects

Comparing the benefits and costs

Specifying the programme/project clearly

What will be the appropriate sequence in this regard? Choose your answer from the
options given below :

1

T

3,
4.

Options:

(a), (b), (¢) and (d)
(d), (a), (b) and (c)
(c), (d), (a) and (b)
(b), (¢), (d) and (a)

E4E35071159. 1
E4E35071160. 2
64535071161, =
64535071162, 4

Question Number : 66 Question Id : 64635018122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4B25071162. 4

Question Number : 67 Question Id : 64635018123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the specific features associated with macro level financing from the list given
below :

(a) Total economy-based concept

(b) Unceasing chain of activity

(¢) Addressing a large entity

(dy Time frame specified

(e) Having direct effect on an individual
(f)  Mimmum scope for risk

(g) Stressing needs of an individual

Choose your answer from the options given below :
L. (@), (¢), (d)and {f)
2. (b),(d), (t)and(g)
3. () (e) (Dand(g)
4. (d),(e), (D and (g)

Options:

4635071163, 1
64535071164, 2
64535071165, =
64535071166, 4

Question Number : 67 Question Id : 64635018123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535071163 1
64535071164, 2
64535071165, 5
64535071166, 4

Question Number : 68 Question Id : 64635018124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



From the following list, identify those which are relevant for the theory of rational
choice :

(a) Aggregation of social behaviour

(b) Random behaviour

(¢) Determinants of behaviour

(d) Prediction of behaviour

(e) Study of interest groups

(f) Behawviour problems associated with information
Indicate your answer from the codes. Select the correct option :

I. (a), (b),(c)and (d)

2. (a)(c), (d)and (e)

3. (b)(e) (d)and(f)

4. (a), (¢), (d)and (f)

Options:

64635071167, 1
64535071168, 2
64535071169, 2
64535071170, 4

Question Number : 68 Question Id : 64635018124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535071167, 1
64535071168, 2
64535071169, 3
E4EZ5071170. 4

Question Number : 69 Question Id : 64635018125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements most appropnately describes the concept of political

modermzation?
1.  Political changes are necessary for the achievements of a specific objective
2. A general process of change in the political sphere is closely related to other
areas of society
3. A political system’s capacity to solve problems to imfiate new policies ete.
4. Ability to learn better and how to perform political functions
Options:

B4E35071171.1
6435071172 2
64535071173, 3



EAE35071174. 4

Question Number : 69 Question Id : 64635018125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64835071171, 1
E4E35071172. 2
64535071172,
64535071174 4

Question Number : 70 Question Id : 64635018126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following two sets of information, Set-I lists the agents of political socialization,
while Set—II narrates their roles :

Set—1 Set-—II
(Agents) (Roles)
(a) Family (i)  Prowvides opportunity for understanding
democratic processes
(b) School (i1) A source of political information and also an
instrument for shaping political values and
beliefs
(c) Peer Group (1i1) Perpetuates values that support authornties
(d) Mass Media (iv) Influences teenagers’ lifestyle and attitude
development

Match the two sets and indicate your answer from the options given below :

L. (-, (b)) (c)-(u1); (d-av)
2. (i) ()n); (©)-v); (D)1
3. (@) (b)-1); (0)-v); (d)ii)
4. (@)-av); (b)), (c)-1); (A1)

Options:

4835071175, 1
64535071176, 2
64535071177, 2
64535071178, 4

Question Number : 70 Question Id : 64635018126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2.
3.
4.

Options:

64635071175, 1
64535071176, 2
64535071177, 2
64535071178, 4

(a)~(1); (b)—(u1); (¢)—(u1); (d)-(av)
(a)-(1); (b)—~(m1); (c)~(1v); (D))
(a)-(111); (B)-(1); (©)1v); (D—11)
(a)-(v); (b)-(u); (c)-(11); (1)

Question Number : 71 Question Id : 64635018127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question

Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following features of social and emotional development characterize the
stage of childhood?

(a) Tendency of withdrawal from parents
(b) Intense self-awareness
(c) Less control over emotions
(d)y Cunosity
(e) Feer and worry
(f) Conflict in motivation
Select your answer from the codes given below :
1. (a),(b)and(c)
2. (b),(c)and(d)
3. (o), (dand(f)
4. (a), (d)and(e)

Options:

64835071179, 1
45350711280 2
64535071181,
64535071182, 4

Question Number : 71 Question Id : 64635018127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835071179, 1
645350711380, 2
64535071181,
64535071182, 4

Question Number : 72 Question Id : 64635018128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following two sets, Set—I mentions the stages of cognitive development as given
by Piaget and Set-II specified the distinctive cognitive features :

Set—I Set—II
(Stage of cognitive development) (Distinctive Cognitive Features)
(a)  Sensory motor stage (i) Hypothesis  making and
hypothesis testing
(b)  Pre-operational stage (i) Transductive reasoning
(¢)  Concrete operational stage (iii) Object permanence
(d) Formal operational stage (iv) Reversibility concept

(v) Arguing a case with evidence
collected

Match the two sets and select your answer from the options given below :
(a)-(ui); (b)) (e)~v); (d)-1)
2. (a-); (b)) (o)-@i); (V)
3. (ap(v); (b-Qv); (o-); (D)
4. (a)y-Gv); (b)-au); (¢)-1); (d)-)

=

Options:

4835071183,
4535071184,
4535071185,
64635071186,

o LIRS

Question Number : 72 Question Id : 64635018128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. (@-); (b)(i); (o)-(ii), (d)~v)
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4. (@), (b)-); (i), (D)

Options:

64635071183, 1
4535071124 2
4535071185, 5
64535071186, 4

Question Number : 73 Question Id : 64635018129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following correctly defines a reflex behaviour?

1.  Response appears again and again as a result of the following consequences
2. A known stimulus elicits a response defimitively
3.  Anunknown or unknowable stimulus is an occasion for a response

4. Response 1s withheld after the stimulus appears

Options:
435071157, 1
64535071158 2



E4E35071189. 3
64535071130, 4

Question Number : 73 Question Id : 64635018129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64635071187, 1
64535071188, 2
645350711389, 2
4835071190, 4

Question Number : 74 Question Id : 64635018130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  Emotionally intelligent children are found to be good in problem
solving.
Reason (R) : Emotional intelligence implies the capacity to integrate and

manage the emotion.
In the light of the above statements choose the correct option :
1.  Both (A)and (R) are correct and (R) is the correct explanation of (A)
2. Both(A)and (R) are correct but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)is false

4. {(A)1s false, but (R) 1s true
Options:
64535071191, 1
64535071192, 2
64835071192 2
645350711494 4

Question Number : 74 Question Id : 64635018130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 75 Question Id : 64635018131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the technique of Pearson Central counselling, the ‘congruence’ is related to
1. unconditional positive regard
2. matching between facial expression and words
3. empathy towards the client

4. reflexive acts
Options:
6463507113951
4535071196, 2
E4E2E071197. 2
40235071198, 4

Question Number : 75 Question Id : 64635018131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535071195, 1
64535071196, 2
64835071197, 2
64535071195, 4

Question Number : 76 Question Id : 64635018132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the characteristics of psychological behaviour according to cognitive field
theory of learning and motivation :

(a) Anovert purposive act
(b) Reinforcement contingent response
(c) Anattitudinal shift
(d) Behawiour with longer latency
(e) A change in the perceived value of an object
(fy Behaviour showing associative shifting
(g) A new relationship established between two or more events
Select from the options to given your answer :
1. (a),(c), (e) and (g)
2. (a),(b),(c)and (d)
3. (d),(e),(f)and (g)
4. (b),(c), (d) and (e)
Options:
64635071199, 1

EAE35071200. 2
E4E35071201. 3



EAE35071202. 4
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Correct Marks: 2 Wrong Marks: 0
AT SR TR & WS &7 RIgid & SUR HHldi-e JagR &1 A ot
UgdH DIl :

(a) US Fohe FhioHIHD SR

(b) wSE SMHT Srgfeba

(c) IR H 9gald

(d) < e o

(¢) ot ag s eEaid e ® gaE

(f) aEaaie® oAl g arel FagR

(2) AT IT 3 geell & 7 wuftg Far g9y

T fou e fawedi § 9 oo IR g
L (a),(), () 3R (g
2. (a), (0), (c) R (d)
3. (d),(e), (D3R (g
4. (b), (), (d) 3R (e)
Options:

645350711951
64535071200, 2
64535071201, 3
E4E3507120Z2. 4
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According to Bruner discovery approach is a must for learning with components of
which of the following?

1. Activation, maintenance and direction
2. Sthmulus situation, response and reinforcement

3. Assimilation, accommodation and adaptation

4.  Self-motivation, beliefs, self-control and self-reaction
Options:
£4635071203. 1
84635071204, 2
64635071205, 3
84635071208, 4

Question Number : 77 Question Id : 64635018133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4835071203, 1
64535071204, 2
64535071205, 2
64535071206, 4
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In terms of personality dynamics, which of the following statements best explain the
nature and character of one’s personality?

(a) Human behaviour does not occur randomly
(b) Human personality represents an integration of traits
(¢) Personality is that which permits a prediction of what a person will do

(dy Man’s behaviour 1s conditioned by his individual racial history and
aspiration

(e) In personality formation, creative self of a person gives meaning to life
Select your answer from the options given below :

1. (a), (d)and(e)

2. (b),(c)and(d)

3.  (a), (b)and(c)

4. (¢),(d)and(e)

Options:

4535071207, 1
64535071208, 2
64535071209, 2
64535071210, 4
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Correct Marks: 2 Wrong Marks: 0
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64535071209, 3
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In developing seven ‘multiple intelligences’, Gardner made some important
observations. Identify such observations from the list given below :

(a) Intelligence is not entirely genetic
(b) Intelligence is a part of acquired behaviour
(¢) Intelligence is not fixed at birth
(d) There is little or no hope for developing intelligence
(e) Intelligence can be nurtured and grown
Give your answer by selecting from the options given below :
. (a),(b)and(d)
2. (a),(c)and(e)
3. (c),(d)and(e)
4.  (a), (d)and(e)

Options:

45350712111
64535071212 2
64535071213 =
64535071214 4
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Correct Marks: 2 Wrong Marks: O



ara '95-0e v & Ao & 0 A MER 7 5T Hewyy [ewivdl 31 37 fowfiri w1 i
Ued gl 9 Ugd B :

(2) V1 qufct: SrgdfRres e et
(b) T 3ifid SIaER 1 U foen 8
(¢) uwl oA W PuifE = 8
(d) v e Bt Tew a1 T8 S TR AR ER1 €
(&) U [Awihd o o 9Hdl ¢
3R g Fuifed el 4 3 go9 oifon :
. (a), (b)3MR(d)
2. (), () 3R (e)
3. (0), (d) 3R (e)
4. (a), (d) 3R (e)

Options:

64635071211, 1
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64535071214, 4
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Which of the following statements correctly describe the process of adjustment?
(a) Adjustment is a two-directional process

(b) Dunng the process of adjustment the instances of conflict and frustration
may be perceived in both normal and abnormal personalities

(¢) Adjustment involves conformity to norms
(d) Adjustment depends more on positive rather than negative reinforcement

(e) Collective unconscious plays a significant role in an individual’s
adjustment

Indicate yvour answer from the options given below :

—_

(b), (c) and (d)
2. (¢),(d)and (e)

3. (a),(b)and(e)
4. (a), (d)and (e)

Options:

64635071215, 1
64535071216, 2
64535071217, 2
4835071218 4

Question Number : 80 Question Id : 64635018136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635071215, 1
64535071216, 2
64535071217, 2
4535071218 4

Question Number : 81 Question Id : 64635018137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The purpose of ICT integration 1s for

1.  optimising learning outcomes
2. enhancing students’ involvement in learning
3.  promoting concerns for economy in use of resources

4. reducing workload of teachers in terms of transactional hours
Options:
cde3E071215. 1
£4835071220. 2
CAEZE071221. 2
CAEZE071222. 4

Question Number : 81 Question Id : 64635018137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535071219, 1
64535071220 2
64535071221, 2
E4E35071222. 4

Question Number : 82 Question Id : 64635018138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  Teacher education curriculum has to give enough scope to learners
for developing their own logical thinking and problem solving
ability.

Reason (R) . The learners today need considerable freedom to explore, enquire
and investigate.

Select the correct option :
1. Both (A)and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. {A)is true, but (R)1s false

4. (A)is false but (R) is true

Options:

64535071223, 1
64535071224, 2
4835071225 2
E4E35071226. 4

Question Number : 82 Question Id : 64635018138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4AE2E071222. 1

BAE35071224. 2
BAE35071225. 3
BAE35071226. 4

Question Number : 83 Question Id : 64635018139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is directly related to quality enhancement of teacher education
programme?

1.  Excursions, tours and trips
2. Study of ICT by the pupil teachers
3. Emphasis on intemship session with in bualt feedback

4.  Specialized talks on various topics

Options:

64635071227, 1
64535071228, 2
64535071229, 2
48350712204

Question Number : 83 Question Id : 64635018139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
646350712271
64635071225, 2

64535071229, 3
E4535071230. 4

Question Number : 84 Question Id : 64635018140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following represent ICT integrated strategy?

(a) Flipped teaching-learning
(b) Blended teaching-learning
(¢) Edusat-based teaching-learning
(d) Video conferencing
(e) Collaborative teaching-learning
(f) Peer tutoring
Indicate your answer from the codes given below :
. (b),(c)and(d)
2. (b),(c)and(e)
3. (a), (b)and(d)
4. (a), (b), (c)and (d)

Options:

64635071231, 1
64535071232 2
645350712332 2
4835071224 4

Question Number : 84 Question Id : 64635018140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (b),(c) 3R (d)
2. (b),(c) 3R (e)
3. (a), (b) AR (d)
4. (a), (b), (o) 3R (d)
Options:

64535071231, 1
E4E35071232. 2
EAEZ5071233. 3
BAE35071234. 4

Question Number : 85 Question Id : 64635018141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequences correctly reflects Kolb’s experiential teaching-
learning?

1. Think, do, feel and watch
2. Watch, feel, do and think

3. Do, watch, feel and think

4. Feel, watch, think and do

Options:

64635071235, 1
64535071236, 2
64535071237, 2
4835071228 4

Question Number : 85 Question Id : 64635018141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071235, 1
64535071236, 2
4835071237, 2
4535071228 4

Question Number : 86 Question Id : 64635018142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the list given below, identify the contextual factors which tend to affect teacher
development in India :

(a) Teachers” ability level is low

(b) Teachers lack a sense of ownership with schools

(¢} The schools are lacking in adequate ICT support

(d) Teachers’ commitment to teaching profession is doubtful

(e} The modern society is averse to teacher status

(f)  There is little or no scope for capacity building for teachers
Indicate your answer from the options given below :

1. (a),(b)and(c)

2. (b),(c)and(d)

3. (¢),(e)and ()

4. (a), (d)and(e)

Options:

64535071239, 1
64535071240 2
64835071241, =2
4535071242 4



Question Number : 86 Question Id : 64635018142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E35071235. 1
64535071240, 2
64535071241, 3
EAE35071242. 4

Question Number : 87 Question Id : 64635018143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For identifying the traiming needs of in-service teachers, which of the following
strategies 1s most appropriate?

L.

2.

Options:

Using strength, weakness, opportunity and challenge analysis
Using “can do-will do’ analysis
Using interaction analysis

Using “action research’ cycle



EAE35071243. 1
64535071244, 2
64535071245, 3
64535071246, 4

Question Number : 87 Question Id : 64635018143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
B4B35071243 1
E4E25071244 2
E4E25071245 =
64535071246 4

Question Number : 88 Question Id : 64635018144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The four ‘D’ model of dream, discover, design and deliver will be the best fit with
which of the following models of teacher education?

1.  Concept attainment model
2. Competency based model
3.  Inqury oriented teacher education model

4. Junsprudence model
Options:
64635071247, 1
64635071248, 2
64635071249, 3
64635071250, 4

Question Number : 88 Question Id : 64635018144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071247, 1
64535071248, 2
64535071249 2
4835071250 4

Question Number : 89 Question Id : 64635018145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following components of pre-service teacher education programme has a
greater scope for experiential learning?

1.  Pedagogy courses through use of discussions

!h.'.'l

Foundation courses through critical exposure
3.  Reflective reading based on great thinkers” work

4. Internship through school attachment

Options:

4635071251, 1
64535071252 2
64535071253 2
64535071254 4

Question Number : 89 Question Id : 64635018145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071251,
4835071252,
4635071253,
64535071254,

o LIPS

Question Number : 90 Question Id : 64635018146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following generic features can be associated with the approach of Jurgen
Habermas?

(a) Personalized approach for modifying teacher behaviour
(b) Emancipatory reflection
(¢) Modes of discovering knowledge
(d) Ethical and moral concerns
(e) Hypothetical deduction
Indicate your answer from the options given below :
. (a), (b)and(d)
2. (c),(d)and(e)
3. (b),(c)and(e)
4. (e), (a) and (¢)
Options:
64635071255, 1
64635071256, 2

BAE35071257. 3
64535071258, 4



Question Number : 90 Question Id : 64635018146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. (e), @) 3R (c)

Options:

64535071255, 1
64535071256 2
4835071257, 2
64535071258, 4

Question Number : 91 Question Id : 64635018147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following factors affect curriculum change?
(a) Socio-cultural context
(b) Political concerns
(c) National priorities
(d) Religious affiliation
(e) Stakeholder’s needs and aspirations
Indicate your answer from the options given below :
. (b),(d)and (c)
2. (a), (c)and (e)
3. (c¢), (a) and (d)

4. (d),(b) and (a)

Options:

64535071259 1
64535071260, 2
64535071261, =
64535071262, 4

Question Number : 91 Question Id : 64635018147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835071259,
4835071260,
4535071261,
64535071262,

[

Question Number : 92 Question Id : 64635018148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following set of activities will be considered most relevant for developing
curricular framework in writing skill?

1. Construct, Reflect, Communicate, Construct and Assess

2. Plan, Assess, Build and Reconstruct
3.  Plan, Construct, Commumnicate, Reflect and Assess

4. Formulate, Construct, Prepare and Reflect

Options:

64535071263,
4835071264,
4635071265,
4535071266,

o LIPS

Question Number : 92 Question Id : 64635018148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535071263, 1
64535071264, 2
E4E350712E65. 2
64535071266, 4

Question Number : 93 Question Id : 64635018149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Nobody plans to fail but failure results from a failure to plan.”

The connotative meaning of this may be more appropriately given by which of the
following related areas of curriculum development?

1.  Not spelling out needs and related issue
2. Lack of recruitment and traiming of facilitators
3.  Lack in reporting resources

4. Not mentioning intended outcomes in advance
Options:
64635071267, 1
64635071263, 2
64635071269, 3
64635071270. 4

Question Number : 93 Question Id : 64635018149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS SRIBE el S el & Ui Al 7 S & SR Sbadl e g1

391 At o Fofafad § 9 urerea [fem & feyg 93t &7 gr1 Suded =u 4 fean
o bl 82

[E—

TIRIHAIST SR 79 WaTd gei oI WP T HLT
2. el 3R wfRneror gRe verarsit 3t St

3. S @t foafdn § e

4. it ofomHl &1 e | IwE 7 HE

Options:

64535071267, 1
4535071268, 2
64535071269 2
64535071270, 4

Question Number : 94 Question Id : 64635018150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s to be placed at the peak of the ‘curriculum triangle’ while
effecting a change?

1.  Instructional objective change
2. Learming experiences change
3. Time perspective change

4. Evaluation of learning outcomes
Options:
64635071271, 1
64635071272, 2
64635071273, 3
64635071274, 4

Question Number : 94 Question Id : 64635018150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635071271, 1
64535071272 2
64535071273, 2
4835071274, 4

Question Number : 95 Question Id : 64635018151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In ensuring sustainable curriculum change and improvement, whose role 1s crucial 1n
the Indian contex?

(a) Role of students’ feedback
(b) Role of teachers’ feedback
(¢) Role of parents’ reactions
(d) Role of educational authorities
(e) Role of public in general
Give your answer from the following options :
1. (a), (d)and(e)
2. (a), (b)and(d)
3. (a),(c)and (e)
4. (c), (d)and (e}

Options:

64635071275, 1
64535071276 2
64535071277, 2
64535071278, 4



Question Number : 95 Question Id : 64635018151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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cagaRoT1275. 1

64635071276 2

BAE35071277. 3
B4E35071278. 4

Question Number : 96 Question Id : 64635018152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For curriculum development at the college/unmiversity level which of the following
reflects the intentions of UGC?

(a) Curnculum should be linked with life situations

(b) Curriculum should be changed every year, if not possible, every three years
(¢) Curniculum should be content centric

(d) Choicebased credit system should from part of university curriculum

(e} Semestenized curriculum provides more of meamngful engangement of the
learnest

Give your answer from the options given below :

1. (a), (b)and (c)
2. (b),(c)and(d)
3. (e),(d)and(e)
4. (b), (d) and (e)

Options:

4835071279, 1
64535071280, 2
64535071281, o
64535071282, 4

Question Number : 96 Question Id : 64635018152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835071279,
4835071280,
4535071281,
64535071282,

[

Question Number : 97 Question Id : 64635018153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a school set up, emphasis 1s laid on giving a message that teacher alone 1s the
knowledge resource. This is called

1.  anexplicit curriculum
2. hidden curriculum
3.  teacher-directed curnculum

4.  leamner-centred curriculum
Options:
64635071283, 1
R4635071284. 2
£4635071285. 3
64635071286, 4

Question Number : 97 Question Id : 64635018153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535071283, 1
64535071284, 2
64835071285 2
E4E35071286. 4
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Question Number : 98 Question Id : 64635018154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statement explains the immediate concern with reference to the
modern scenario?

1. Evaluating the curricular content at global level
2. Designing curriculum according to each student
3.  Reconsidering the dimensions of already designed curriculum

4. Keeping the theoretical curricular part at rmmimum level

Options:

64635071287, 1
4835071288 2
4535071289 2
64535071290 4

Question Number : 98 Question Id : 64635018154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 99 Question Id : 64635018155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statement best explain the concept of curriculum?

(a)
(b)
(c)
(d)
()
0

Curriculum is a handbook for setting question paper

Curriculum means a relevant set of learmng experiences

Curriculum has to be in consonance with the objectives of education
Curriculum is a network of techniques

Curriculum implies transactional as well as evaluation strategies

Curniculum is a guide for teachers and evaluators

Indicate your answer from the options given below :

I

2

&

4.

Options:

EAEZ5071291.
EAE3507 1292,
BAE350712393.
64535071294,

Question Number
Single Line Quest

(b), (d), (e) and (f)
(¢), (d), (e) and (O
(b), (¢), (¢) and (O
(a), (b), (¢) and (f)

o LI M

1 99 Question Id : 64635018155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
ion Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535071291, 1
64535071292, 2
4835071292 2
4535071294 4

Question Number : 100 Question Id : 64635018156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

In CIPP model of curriculum, which one of the following 1s based on interactive modes
of relationships?

|8 Context
2.  Input
3 Process

4, Product

Options:
45350712595, 1

EAE350712396. 2
BAE35071257. 3



EAE3507123958. 4

Question Number : 100 Question Id : 64635018156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. ded
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Options:

64535071295, 1
64535071296, 2
64535071297, 2
4835071298 4

Question Number : 101 Question Id : 64635018157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below, identify the statements which appropriately descnbe the
main characteristics of steps in scientific method :

(a) Identifving and defimng the problem

(b) Defining the population and sampling procedure

(¢) Selecting a sample

(d) Formulating hypothesis

(e) Collecting, organizing and analysing of data

(f) Fixing the framework for data analysis

(g) Formulating conclusions

(h) Venfication, rejection or modification of the hypothesis
Indicate your answer from the codes given below :

L. (b), (), (d), () and ()

2. (a),(d),(e), (g)and (h)

3. (0),(d),(e), (g) and (h)

4. (a), (b), (c), (d), and (e)

Options:

64835071299, 1
4535071200, 2
64535071201,
4535071202, 4

Question Number : 101 Question Id : 64635018157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fFrafafea sy § 3 dae Y & ol 91 g7 fgvaelt @1 vgarfu
(a) THS B! UgEH AT 3R I URHITRE @1
(b) THT 3R Wicer= Wiehal &1 UiHIR ST
(¢) fat vicex @197
(d) uReer A
(6) VST P! T H, It Aaryd BT 3R I7a1 fawm
() Tag-fazewor o forg ofevied fad e

(g) fet ufques
(hy URGE BT IA0, I SRETHd ST YT ITH AT HIAT
4 fou U faweat © 9 98 IR &1 I S
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4. (a), (0), (0), (@), 3R ()

Options:

64535071299,
E4E3507 1200,
4535071201,
4535071202,

o LIPS

Question Number : 102 Question Id : 64635018158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A school teacher plans a research study to find out the relationship between level of
aspiration and socio-economic status of students® parents. Which type of research

design will be appropriate for this study?
1.  Expenimental research design
2. Descriptive research design
3. Non-experimental research design

4. Historical research design

Options:



E4E35071203. 1
64535071204, 2
64535071205, 3
64535071306, 4

Question Number : 102 Question Id : 64635018158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835071203, 1
4535071204, 2
64535071205, 5
64535071206, 4

Question Number : 103 Question Id : 64635018159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In randomly constituted two groups—experimental and control, a researcher obtains the
following results after using a parametric “# test :

Value of =3 for N=300

On the basis of this evidence which decision in respect of substantive research
hypothesis and the null hypothesis will be justified?

1.  Accepting the null hypothesis and accepting the research hypothesis
2. Rejecting the null hypothesis and rejecting the research hypothesis
3.  Accepting the null hypothesis and rejecting the research hypothesis

4. Rejecting the null hypothesis and accepting the research hypothesis

Options:

64535071207, 1
64535071208, 2
64535071209, 2
64535071210, 4



Question Number : 103 Question Id : 64635018159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835071207, 1
4535071208, 2
64535071209, 5
64535071210 4

Question Number : 104 Question Id : 64635018160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher gives two tests—one in English language and another in Mathematics.
He/She finds the mean and standard deviation of each of the two groups » =100, as
follows :

English Mathematics
Mean 50 60

Standard deviation 10 12

Assuming the curve for the two distributions overlapping, how many students in
English language are below the mean of those in Mathematics?

1. 34
2. 84
3 16
4. 32

Options:
64535071211, 1



EAE35071212. 2
64535071213, 3
64535071214, 4

Question Number : 104 Question 1d : 64635018160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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i 34
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3. 16
4. 32
Options:

E4E35071211.1
E4E35071212. 2
64535071213, 3
64535071214, 4

Question Number : 105 Question 1d : 64635018161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher researcher has obtained data from a questionnaire used for teachers and head
teachers in the form of a contingency table of 3x3 for anxiety and awareness levels.
Which statistical test will indicate whether the two variables are interdependent?

1. Wilcoxon signed rank test
2. Spearman’s rank difference method of correlation
3 Eta coefficient

4. Chi-square test

Options:
645350713151
64535071216, 2



EAE35071217. 3
645350712158, 4

Question Number : 105 Question Id : 64635018161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350713151

E4E35071216. 2
E4E35071217. 3
645350712158, 4

Question Number : 106 Question Id : 64635018162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a research study, the effect of three independent variables such as gender,
socioeconomic status of the family and locus of control on scholastic performance in
social studies was to be ascertained. The dependent variable was measured using an
interval scale. Which of the following statistical techmques will be considered
appropriate for thus data?

1. “FPiest
2. riest

3. “Itest
4.  ‘H test

Options:

64535071219, 1
4835071220 2
4535071221, 2
645350712322, 4

Question Number : 106 Question Id : 64635018162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635071219, 1
64535071320 2
64535071321, 2
64535071322 4

Question Number : 107 Question Id : 64635018163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a testing survey of class X students with N = 500, their mean was observed as 80 and
standard deviation as 8. Assuming normality of distribution of their scores, how many
students would be below the score of a student getting 887

. 13

2. 421

3. 84

4. 16
Options:

B4E350712323. 1
645350712324, 2
64535071325 3
E453507132E. 4

Question Number : 107 Question Id : 64635018163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TH
2. 421
3. &4
4. 16

Options:

64635071223, 1
64535071324, 2
64535071325, 2
4835071326 4

Question Number : 108 Question Id : 64635018164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to study the adjustment problems of students who are slum
dwellers. What should be the sampling procedure used for such a study?

1.  Simple random sampling
2.  Stratified random sampling
3.  Systematic sampling

4. Cluster sampling
Options:
64635071327, 1
64635071328, 2
64635071329, 3
64635071330, 4

Question Number : 108 Question Id : 64635018164 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835071327, 1
E4E35071228. 2
64535071229, 5
64535071220 4

Question Number : 109 Question Id : 64635018165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following represents the distinctive feature of qualitative research?

1.  Perspective based, inductive and meamng giving
2. Hypothesis based, deductive and testing
3.  Deductive cum inductive based approach and generalization

4. Deductive inquary with focus on theory and hypotheses being tested

Options:

64635071231, 1
64535071332 2
645350713332 2
4835071224 4

Question Number : 109 Question Id : 64635018165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071231, 1
4835071332 2
45350712322 2
64535071224, 4

Question Number : 110 Question Id : 64635018166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the distinctive feature of case study research?

1. Amving at generalizations
2. Presenting a detailed case history
3.  Developing an in-depth understanding of the case

4. Helping solve the problem of the case
Options:
64635071335, 1
64635071336, 2
64535071337 3
64635071338, 4

Question Number : 110 Question Id : 64635018166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350712351
E4E35071236. 2
64535071237, 5
64535071228, 4

Question Number : 111 Question Id : 64635018167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A teacher orgamzes and reorganizes the presentation in a discussion session being
conducted by her/him. This will be placed at which stage of the teaching act?

1. Preactive preparation stage
2. Preactive plannmng stage
3.  Interactive stage

4. Postactive stage

Options:

64635071259, 1
64535071240 2
64535071241, =
64535071242 4

Question Number : 111 Question Id : 64635018167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535071239, 1
64535071240 2
64835071241, 2
4535071242 4

Question Number : 112 Question Id : 64635018168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher develops an achievement test with items saturated with high difficulty value
and widely divergent content domain. This may be called an example of

1.  placement type of assessment
2. formative assessment
3.  diagnostic assessment

4, summative assessment

Options:



E4E35071243. 1
64535071244, 2
64535071245, 3
64535071346, 4

Question Number : 112 Question 1d : 64635018168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071243, 1
64535071244 2
64535071245 =
64535071346, 4

Question Number : 113 Question 1d : 64635018169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of reflective journal in teacher education 1s supposed to be based on the
1dea of

1.  providing reflection on curriculum and curricular activities
2. providing more reflective space for quality learning
3. providing more opportunities to use technology

4. ensuring quality enhancement in colleges of education

Options:

64535071247, 1
64535071248, 2
64835071249 2
4535071250 4

Question Number : 113 Question Id : 64635018169 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635071247, 1
645350712348, 2
64535071249 2
4835071250 4

Question Number : 114 Question Id : 64635018170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the main assumption of Charles Galloway system of
observation?

1.  Verbal training should be enriched
2. Verbal communication is the adequate base of teaching-learning process
3.  Non-verbal events do not matter much in the classroom

4. Non-verbal communication can be more effective during interaction in the
classroom
Options:
64635071351, 1
64635071352, 2
64635071353, 3
64635071354, 4

Question Number : 114 Question 1d : 64635018170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071351, 1
64535071352, 2
64835071352 2
4535071254 4

Question Number : 115 Question Id : 64635018171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

If a teacher is to be evaluated for his/her teaching by the learners, which specific group
of the learners should be selected from the class?

1.  Those who have dropped out
2. Those who are good achievers and regular in the class
3.  Those who are good achievers but are irregular in the class

4.  Those who assess the personality of teachers

Options:

648350713551
4535071356 2
64535071357, 5
64535071358, 4

Question Number : 115 Question Id : 64635018171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071355, 1
4835071356 2
4535071357, 2
645350712358, 4

Question Number : 116 Question Id : 64635018172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At semester end, a teacher wants to assess the learning outcomes of his’her students.
Which of the following test formats will be considered appropriate in this regard?

i1 Portfolio assessment

T, Formative assessment
= Performance assessment

4. Summative assessment

Options:

4635071259, 1
64535071360 2
64535071361, 2
64535071362, 4

Question Number : 116 Question Id : 64635018172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350713591

G4AE35071260. 2

64535071361, 3

64535071362, 4

Question Number : 117 Question Id : 64635018173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is the main objective of assessment?
1. Collect information systematically to judge students’ charactenistics
2. To find out the weakness of teaching-learning system
3.  Torelate various collected information about students

4.  To obtain data about learning difficulties

Options:
4535071363 1

EAE35071364. 2
E4E35071265. 3
BAE35071266. 4

Question Number : 117 Question Id : 64635018173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafeied # 3 fenfiat qeies o1 9wy 3tz 0 87
1. faemdf s Rfwaet &1 wem & ot Faae ¥ 3 59 wd H3
2. TRreqor-siferm gomett &1 SHeial o1 uan @
3. faenal & 9N H Sofera fAfts veR 3t g9+1 &1 3oy § Sie1

4. 3t gaeh Sfd==al & TR A ATFHRI U ST

Options:

64635071263, 1
64535071364, 2
64535071365, 2
4835071366 4

Question Number : 118 Question Id : 64635018174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which of the following modes of testing, a student is given optimum scope for
displaying his/her accomplishment?

1. Speed test
2. Power test
3.  Accuracy test

4, Standard test

Options:
4235071367, 1



EAE3507 1368, 2
B4E350712645. 3
64E35071270. 4

Question Number : 118 Question 1d : 64635018174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535071367, 1
64535071368, 2
48350713269 2
E4E35071270. 4

Question Number : 119 Question Id : 64635018175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following will form the basis for self-evaluation for a student teacher?
(a) Students” level of participation
(by Satisfaction of parents about students progress
(¢) Students performance in the test
(dy Student-teacher perception about himself/herself
(e) Peer group feedback
(f)  Feedback from mentor
Select your answer from the codes given below :
. (a),(b)and(c)
2. (a), (¢)and (d)
3. (a), (d)and(f)
4. (a), (¢) and (d)



Options:

64535071371, 1
E4E35071372. 2
E4E35071272. 2
645350712374, 4

Question Number : 119 Question Id : 64635018175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350712371.1
BAE35071372. 2
BAE350712373. 3
64535071374, 4

Question Number : 120 Question 1d : 64635018176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of

the following are considered indicators of indirectness in Flander’s

interaction analysis?
(a) Lecturing
(by Giving direction
(¢) Acceptance of feelings
(d) Praising or encouraging
(e) Crticizing or justifying authority
(f) Using student’s ideas
Select your answer from the codes given below :
. (a), (b)and(d)
2. (bh(c)and(e)
3. (¢),(e)and (D)
4. (¢), (d)and(f)
Options:
64635071375, 1
64635071376, 2
64635071377, 3
64635071378, 4

Question Number
Single Line Quest

1 120 Question Id : 64635018176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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cagaR071575. 1
64635071376, 2

BAE350712377. 3
64535071278, 4

Question Number : 121 Question 1d : 64635018177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are examples of application of ET to open and distance learning

courses?
(a)
(b)
(c)
(d)
(e)
()
Select your
i
3
3.

4.

Options:

BAE350712375.
645350712380,
64535071381,
EAE3507 1382,

Question Number

Modular instructional materials
Personal contact programmes
Massive open online courses (MOOC)
Edusat-based interactions

Model lectures by an eminent scholar
Visits to archives

answer from the codes given below :
(a), (c) and (d)

(a), (b) and (¢)

(b), (¢) and (e)

(d), (e) and (f)

o I P

: 121 Question Id : 64635018177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



fAmiferd & @ SF-91 gad o g Rran urawsmat o e Tfet & ey & eI
&7

(a) WG SFIERTHD At
(b) G IS HTRIHH
(¢) dEg Hed AaR- UIaIHH (@H. 3. 311, 4t)
(d) TG-S e
(e) U [d@Td fagH &1 Higd A&
) WA @l &gk
= fou e Rt 7 T 98 3T &1 997 St
L (), () 3R(d)
2. (a),(b) AR ()
3. (b),(0) 3R (e)

4. (d),(e) 3R (D

Options:

64535071379, 1
64535071380, 2
64835071281 2
4535071282 4

Question Number : 122 Question Id : 64635018178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The constructivist approach to ‘instructional design” will lay stress on which of the
following action words?

1.  Control, observe and measure
2.  Explore, enquire and interpret
3.  Collect, analyse and predict

4. Describe, depict and develop
Options:
64635071383, 1
64635071384, 2
64635071385, 3



EAE3507 12386, 4

Question Number : 122 Question Id : 64635018178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEETG SUTTH ® SFeR-Ta® i@ & Srarid Fafuied H ¥ i hargae Isa W
e fear s 87

1. daw sEdes ok /g
2. 30T, U1 3T TS

3. gy, [A=awor o yafaam
4. TufE, yeRE IR e

Options:

645350712383, 1
64535071384, 2
648350713285 2
4535071286 4

Question Number : 123 Question Id : 64635018179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the programmed instructional design, the sequence of frames follows a
demonstrate, prompt and release pattern?

1.  Linear programmes
2. Branching programmes
3.  Mathetics programmes

4. Computer assisted learming and teaching programmes

Options:

64535071387, 1
64535071388, 2
4835071289 2
4535071290 4

Question Number : 123 Question Id : 64635018179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g il ee® e | SHE-HH e+, aid AR fagfed U &1 e
&l 87

1. @R st
2. T AiHEmH

3. JEfad sifvepH
4., HrIC AT SHfETH R Rreor sty

Options:

64635071287, 1
64535071388, 2
64535071289, 2
4835071290 4

Question Number : 124 Question 1d : 64635018180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher presents information by accessing from E-learning portals while displaying
confidence in the domain of concerned knowledge. This may involve which of the
following?

1.  Non-observance of ethicality

2. Inappropriate information coverage
3.  Lack of harmony and relevance

i Lack of techmical skill
Options:
64635071391, 1
64635071392, 2
64635071393, 3
64635071394, 4

Question Number : 124 Question Id : 64635018180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



U R 3-af1 uicd @1 deg § Jafd IH-83 H refaym eikid &d g 9= vgd
Sl 2| 390 o1 I1E 8 gHare?

1. Afdea ot eEm

UG T 3BT
3. YA 3R TR @1 SrqE
4. doAle! B BT IAHT

Options:

64535071291, 1
645350712392, 2
48350713292 2
4535071294 4

-

Question Number : 125 Question Id : 64635018181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For the use of ‘online libraries’ in an effective manner, which of the following poses a
potential threat to quality?

1.  Non-availability of online repositories
2. Non-availability of E-portfolios

3. Want of qualified librarian

4. Lack of techmical skill of the user

Options:

64535071295, 1
64535071396, 2
64535071397, 2
4835071298 4

Question Number : 125 Question Id : 64635018181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350713595 1

E4E35071396. 2
E4E350712397. 3
645350712398, 4

Question Number : 126 Question Id : 64635018182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the essential features of a module?
(a) It is self-sufficient
(b) Attending contact classes
(¢) Self-learning
(d) Self-evaluation
(e) Statements of learning outcomes

(f) Submission of project work

Choose your answer from the codes given below :

L. (&), (b),(d)and (D)
2. (a),(c), (d)and ()
3. (b),(c), (d) and (e)
4. (a),(c), (d)and (¢)

Options:

4635071299, 1
64535071400, 2
64535071401, =
64535071402, 4



Question Number : 126 Question Id : 64635018182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frofefed § 9 o1- ue Aisyd o1 gayd aevan 82
(1) 9% W-uRgulgrare
(b) S e § I E
(0 w-m
(d) wW-HADT
(e) 3iferm oo & SR | Y=
() uRdreE o ot vggfd
-td fou MU fasmedt H | I8t IR &1 99 Hifor -

L. (a), (b), (d) 3R (D)
2. () (c), (d) R (D)
3. (b),(0), (d) 3R (e)
4. (a),(0), () MR (e)

Options:

64535071299,
4835071400,
4535071401,
4535071402,

o IR

Question Number : 127 Question Id : 64635018183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following explains the meaning of digital culture?
1.  The way computer and mobile are used
2. The way people live, work, play and learn with ICT
3.  The way people interact with smart technology

4. The way students learn from technology

Options:
64235071403, 1
64635071404 2



E4E35071405. 3
BAE35071406. 4

Question Number : 127 Question Id : 64635018183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

froferfaa & § o f3ftea vwia &1 ufeuifta s 82
1. e 3R GERd YA S o1 alie!
TRl &1 A2, S S, Y- 3R . . A F aftrmy &1 aden
3. qil o I Vet § srefoa 3
4. foentfai &1 dRifa § Sem @1 ader

t~3

Options:

64535071403, 1
64535071404, 2
64835071405 =2
4535071406, 4

Question Number : 128 Question Id : 64635018184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Below are given the two sets. Set-I lists the models of instructional design and Set-II
contains their explanations :

Set=] Set—II
(Models) (Explanations)

(a) ADDIE (1) It starts with instructional goals and ends with
summative evaluation

(by ASSURE (1) Catering for the specific needs of every learner
rather than using general resources

(¢) Gagne (111) A process that offers a step-by-step framework
to assess training and educational material

(d) Dick and (iv) Emphasis on information processing of mental

Carey events and learming outcome

Match the two sets and indicate your answer from the codes given below :
1. (a)-@); (b)—1in); ()(1); (d)-(v)
2. (a)y-(ui); (b)-(); ()v); (D)
3. (@)-(v); (b)-(); (e)(id); (d)—(i1)
4. (a)-(); (b)-v); (¢)~(1); (d)—(111)

Options:

64535071407,
64535071408,
E4E835071409,
4535071410,

o P

Question Number : 128 Question Id : 64635018184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() M (i) wRremr oR fRemr Al & geies B9 RUNS
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(@) f&® iR & (v) "R Teel SR eftr uRurHl & gE
TR HUT UHH {01 U 9]

&IF A< 1 ARt Hd §U 1= ey TU el 3 4 FEl IR &1 99 S :
(a)-(1); (b)iii); (c)—(i); (d)-(iv)
2. ()i (b)-(); (), (DD
3. (@-v); (b)) (o)), (d)ii)
4. (a-); (b)-av); ()—1); (d)-(u)

—

Options:

64535071407, 1
4835071408, 2
4535071409 2
64535071410, 4

Question Number : 129 Question Id : 64635018185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Five E’s instructional model of constructivism has been developed on the basis of
which of the following theoretical basis of learning?

1.  Learming emerges from the sequence of events 1n a class

2. Leaming occurs through the search for epistemological structure of
understanding

3.  Learning is contingent upon the socio-emotional environment in the class

4. Learning 1s perceived as a change in behaviour as a result of teacher
motivation

Options:



E4E35071411.1
6435071412 2
64535071413, 3
64535071414, 4

Question Number : 129 Question Id : 64635018185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TG $ UY 3-3FeAIHS Aisd @l Fofafad @ | sftrm & g Sgifae snyr W)
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4. 3HfTH B e SR & gRUTASST FHeR | 95ad & ©Y § IHg Ard

g
Options:
64535071411, 1
E4525071412 2
E4535071413 =
64535071414 4

Question Number : 130 Question 1d : 64635018186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the charactenistic features of e-learmng?

(a) Empowering learner to absorb personal accomplishment
(b) Promoting self-imtiated learming
(¢} Enhancing cognifive flexibility
(d) Providing multiple channels of acquiring knowledge
(e) Nurturing experience-based learmng
(f) Assisting teacher with high degree of coverages to deliver the content
regularly
Choose your answer from the codes given below :
1. (b), (¢), (a) and (d)
2. (c).(a), (e)and (b)
3. (d),(e), (b)and (c)
4. (a), (b), (d) and (f)

Options:
64535071415, 1



E4E35071416. 2
64535071417, 3
645350714158, 4

Question Number : 130 Question 1d : 64635018186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frafed & 8 1 1F-3 §-af-1 &1 [Rrvan g2

(a) STl B SAfGaTd FUdie! I HI & 018 F&d I
(by O-Tgd 3ferTH &1 Hads

(¢ IIFHS aF Bl FgHI

(d) 9 98U & gAY Hid FaH B

(¢) SIFHT- 3R HTH &1 Fgrar &

() frofE dR W Avaay 31 I & i I=ada s & 91y Rie@ &1 Acg
ST

Fe fou TU el § 9 95 IR &1 99 B ;
1. (b),(c), (a) 3R (d)
2. (o), (@), (e) M (b)
3. (d), (o), (b) 3R (o)
4. (a), (), (d) 3R (D

Options:

64535071415, 1
4535071416 2
64535071417, 5
64535071415, 4

Question Number : 131 Question Id : 64635018187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per the principle of span of control, how many teachers can be effectively
supervised by a teacher-supervisor?

1.  Anynumber of teachers
2.  4-6 teachers
¢ 6—10 teachers

4. Maxamum 15 teachers

Options:
64635071419, 1
64535071420 2



EAE35071421. 3
BAE35071422. 4

Question Number : 131 Question Id : 64635018187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frzu-fagfa & g & orER bt srove-faee g feas sremuet &1 pHE
e g1 Iar g?

1. 3dieg e
2. 436 Re
3. 6310 R

4. 3feHad 15 e

Options:

64635071419, 1
E4E35071420. 2
4535071421, 2
4535071422 4

Question Number : 132 Question Id : 64635018188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following statement represents the theory given by Elton Mavo?

1.  Men can wortk tirelessly like machines
2. Given a chance, no man wants to work

3.  Enhance relation with people in the orgamzation to improve productivity

4. High wages ensure larger output
Options:
64635071423, 1
64635071424, 2
64635071425, 3
64635071426, 4

Question Number : 132 Question Id : 64635018188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071423, 1
64535071424 2
64835071425 2
64535071426, 4

Question Number : 133 Question Id : 64635018189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following set of traits 1s most appropriate for effective leadership?

1. Knowledge, Vision and Relationship
2. Achievement drive, self-confidence and charisma
3. Cogmtive ability, emotional maturity and flexability

4. Creativity, honesty and knowledge of the task

Options:

64635071427, 1
64535071428, 2
64535071429 2
4835071420 4

Question Number : 133 Question Id : 64635018189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faedt ot Age & for Fferiad & 9 oF-a1 aev-ag=a 6iite Iuged 87
. I, &% 3R a8y
2. Jyaie BN, H-fAyN AR S
3. AYEIES arTd], HIaAes URysmdl SR @i
4. GoFTHS, SHFER! SR S BT IH

Options:
64635071427, 1



EAE35071428. 2
64535071425, 3
64535071430, 4

Question Number : 134 Question 1d : 64635018190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From the list of the statements given below, identify the main characteristics which are
related with leader-member exchange theory :

(a) Views leadership as a process
(b) Focuses on the vertical dyadic relationship
(c) Explains the effects of leadership on members, teams and organisations
(d) Cares for the development of priviledged groups in the workplace
{e) Points out what strengthens and weakens the leadership dynamics
(f)  Assesses how values affect the group dynamics
Select your answer from the codes given below :
L. (), (e), (d) and ()
2. (a), (b),(c)and (¢)
3. (b),(c), (d)and(e)
4. (¢), (d), (¢) and (f)

Options:

648350714211
4535071422 2
64535071422,
64535071424 4

Question Number : 134 Question Id : 64635018190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1 Ry o et & § w8 I gfu:
L (0, (), R ()
2. (a), (), (0) 3R (e)
3. (1), (), (d) ¥R (e)
4. (e) (), (&) MR (D)

Options:

64635071431, 1
64535071432, 2
64535071433 =2
E4E35071424. 4

Question Number : 135 Question Id : 64635018191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets of the information, Set-I lists the style of leadership on the

managerial

(a)

(b)

(d)

(€)

grid, while Set—II enumerates their charactenistics :
Set—I Set—II
(Styles of leadership) (Characteristics)

Impoverished leadership (1)  Autocratic—workers have to
complete the task, nothing else

Country club leadership (1) Compromises made to achieve
acceptable performance

Task-oriented leadership (1i1) Laissez-faire—mimmal concern
for both the workers and the task

Team leadership (iv) Focusses on creating safe,
comfortable working environ-
ment, minimal conflict

Middle of the road leadership (v) Stafffworkers closely involved in

decision-making and feel valued

Match the two sets and give your answer from the codes given below :

L.

2.

3.

4,

Options:

E4E3507 1435,
BAE3507 1436,
64535071437,
64535071438,

Question Number

(a)-(); (B1D); (0)-1); (d)-(v); (e)v)
(a)-(11); (b)-(D); (0)-v); (d~(v); (e)-(iL)
(a)—(1t); (b)-av); (¢)-); (D—v); (e)-)
(a)~(1v); (b)(ii); (¢)—(in); (D—1); (e)HV)

[ N

1 135 Question Id : 64635018191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(a)-(1); (b)—(11); ()—(iii); (d)-1v); (e)(v)
(@)—(it); (b)—(1); (—v); (d)~(v); (e)—(1ii)
(@)—(iii); (b)—~(v); ()-(); (D—(v); (e)—(1D)
(a)—(1v); (b)(id); (e)-(i); (A1), (V)



EAE3507 1435,
BAE3507 1436,
B4535071437.
64535071438,

[ N N

Question Number : 136 Question Id : 64635018192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In terms of Shewhart cycle, Set—I gives its stages, while Set-II specifies related actions

Set—1 Set—II
(Stages of cycle) (Related actions)
(a) Plan (1)  Chalk out a change or test
(by Do (11) Observe the effects of the change or test
(¢) Check (1) Improve change or test with new knowledge
(d) Act (1v) Carry out the change or test

Match the two sets and give your answer from the options given below :
1. (a)=); (b)-(); (¢)—(u1); (d)-(v)
2. (a)yH1); (b)—av); (e)-(1); (d)iii)
3. (&), (W1); (©-v); (d-1)
4. (a)-w); (B)-); (¢)—-(m); (d)—v)

Options:

64535071439,
64535071440,
64535071441,
4835071442,

[ N

Question Number : 136 Question Id : 64635018192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (@) (b)-w); (¢)~i); (d)-Gv)
2. (aQ); (B)-(v); (o)-); (d)-(u)
3. (a-); (b){1ui); (¢)~(1v); (A1)
4. (a)y-(); (B)1); (0)(i1); (d)-Gv)

Options:

64535071439,
64535071440,
4835071441,
4835071442,

[ N

Question Number : 137 Question Id : 64635018193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements gives the meaning of quality circle?

1. Parents and teachers voluntarily coming forward to help school in
management

2. Teachers forming a team to help school in management
3. Alumni coming forward to help school in management
4. Students of the school voluntanly coming forward under the guidance of

teachers to help school in management

Options:
64535071443, 1
4835071444 2

E4B25071445 =5



EAE3507 1446, 4

Question Number : 137 Question Id : 64635018193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o # 8 SH-91 HYF e 96 o1 oY Fddr 82
1. Arar-fuar ek sraue W1 3 yay= | [Jenaa & germand om oma @
2. e Reed vEyE & gerdrd ca s @
3. fenem & od o e ve & wewmard omt o €

4. Taemem & et ey veY & geaand S B AnTeR= H W 9 3
3 2
Options:
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CAEZE07 1448 4

Question Number : 138 Question Id : 64635018194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the main objectives of Quality Council of India (QCI) from the statements

given below :
(a) To lead nationwide quality movement through national quality campaign
(b} To evolve suitable performance appraisal systems
(¢) To develop capacities for implementing and institutionalizing continuous
quality improvement
(d) To develop, establish and operate national accreditation programmes
(e) To collaborate with other stakeholders of higher education
(f) To build capacities in the areas of regulation, conformity assessment and

accreditation

Select your answer from the codes given below :

I

B

3.

4.

Options:

64535071447,
64535071445,
EAE3507 1443,
E4E3507 1450,

Question Number

(¢), (d), (¢) and (f)
(b), (¢), (d) and (e)
(a), (¢), (d) and (£)
(b), (d), (¢) and (f)

o LIRS

: 138 Question Id : 64635018194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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EEALGEZS]

(d) TN TAEH SHGH @l Ao S, 3% [T S 3R T S
(e) T= e & 3w RauRa! & 9y Geam &
()  fafaee, sEwud), Hedie= iR U & &5 | & Fafor s
= fm U et & 9 9 ST AR
L. (o), (@), (e) M ()
2. (b),(e), (d) 3R (e)
3. (@, (0, (@ 3AR®D
4. (b),(d), (e) IR ()

Options:

64535071447, 1
64535071448, 2
64535071449 =2
4535071450 4

Question Number : 139 Question Id : 64635018195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following statements clearly articulates the meaning of unit cost?

1. Total expendifure by the institution
2.  Total expendifure divided by total number of teachers
3.  Total expenditure divided by total number of students

4. Total income — total expenditure of the school

Options:

64535071451, 1
64535071452, 2
64535071452 5
64535071454 4



Question Number : 139 Question Id : 64635018195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafefed # 2 e Sy 3 5or ara & aad o1 guivHitd fear mn g2
1. IR1gR e T g g
2. el 9 pa dem gr fauiir o =3
3. TRl ot oo 9o g fAviford oa =g
4. P M - e B P T

Options:

64835071451, 1
64535071452, 2
64535071452
64535071454 4

Question Number : 140 Question Id : 64635018196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following areas as listed below gets high weightage in NAAC ratings
of educational institution?

1. Curniculum

2.  Research
3. Teaching
4, Innovation

Options:

64635071455, 1
64535071456, 2
64535071457, 2
E4E35071458. 4

Question Number : 140 Question Id : 64635018196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. g

2. WY

3. fRrgor

4.  TAER
Options:

E4E35071455. 1
E4E35071456. 2
BAE35071457. 3
64535071458, 4

Sub-Section Number: 2
Sub-Section 1d: 646350884
Question Shuffling Allowed : Yes

Question Id : 64635018197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Self-management was conceived as a cycle of management that called for schools to
determine goals, formulate policies, make annual plans, allocate resources, implement plans
of learming and teaching, and evaluate outcomes. Noteworthy features were plans based on
programmes that were defined by the normal patterns of work in the school, most of which
were areas of the curriculum. There were clearly defined roles for different groups. The
‘policy group” was normally the goverming body, such as a school council, that set goals,
formulate policies, approve budgets and share in the conduct of programme evaluations.
‘Programme Teams’, formed mostly of teachers, were also involved in each of these
activities, but were mainly responsible for preparing programme plans and programme
budgets. Programmes were implemented in the normal day-to-day work of the school. These
teams played a major role in the evaluation of programmes.

Sub questions

Question Number : 141 Question Id : 64635018198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, self~management oniginated as
1.  determining of goals
2. agude to policy
3.  annual plan

4.  acycle of management

Options:

64535071459, 1
64535071460, 2
4835071461, 2
64535071462, 4

Question Number : 142 Question Id : 64635018199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Distinctive features of self-management were conceived as

1.  normal pattern of work
2. areas of curriculum
3.  patterns of work in the area of curriculum

4.  programmes m the school
Options:
£4635071463. 1
64635071464, 2
64635071465, 3
64635071466, 4

Question Number : 143 Question Id : 64635018200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In self-management

—_—

roles were different for each person
2. goals were set clearly
3.  policies were formulated by others

4. goals were set in a participative manner

Options:
E4E35071467. 1
E4E3507 1468, 2



EAE350714643. 3
BAE35071470. 4

Question Number : 144 Question Id : 64635018201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In programme teams, there were mostly

—
.

policy makers
2.  teachers
3.  prncipals

4.  students
Options:
645350714711
64535071472 2
64E35071473 2
E4AE35071474. 4

Question Number : 145 Question Id : 64635018202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Programmes were implemented by teachers

1. 1inusual situation
2. in different situations
3. any situations

4. inspecified situation

Options:

E4E35071475. 1
64535071476, 2
64535071477, 5
64535071475, 4

Question Id : 64635018197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 64635018198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR & 3R W-Ta=F St o Fafied § 9 g w0 d g8?
1. weg-PyRus o d
2. M F oy TS FETH
3. aNiYe dier & T H

4, TUSRFAHEUH

Options:

64535071459, 1
64535071460 2
64835071461, =2
4535071462 4

Question Number : 142 Question Id : 64635018199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W-vave o AR fALvamsi @t sy &1 fAafo Fofafes 3 9 g o o gan ur?
1. B 9ER gEd
2. UsTEal % aF
3. UTeTadl & G 31 B B
4. faened ® EF ad srdew

Options:
64635071463, 1



EAE35071464. 2
64535071465, 3
64535071466, 4

Question Number : 143 Question 1d : 64635018200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T-UgRH
. vde oafed & forg srem-srem Yife off

2. deg guivyiita ¢
3. Hifqar ey safeaal g1 a=1s S off
4. dea-FyRo vfaurt @ su s o

Options:

64535071467, 1
64535071468, 2
64535071469 =
64535071470, 4

Question Number : 144 Question 1d : 64635018201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HFH o (U <) | Fafifed # 9 i it 4?
1. offdear Aifa-Fr

3 YHIa: 3redTUh

3. PR yyHER

4. i femdt

Options:

64635071471, 1
64535071472 2
64535071473 =
64535071474, 4

o ]

Question Number : 145 Question 1d : 64635018202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071475, 1
4835071476 2
E4E35071477. 2
64535071478, 4

Sub-Section Number: 3
Sub-Section 1d: 646350885
Question Shuffling Allowed : Yes

Question Number : 146 Question Id : 64635018203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As mandated by an Act of Parliament, what are various objectives of the Rehabilitation
Council of India (RCI)?

(d)
(€

(0

Select your
E.
2
3,

4.

Options:

BAE35071473.
64535071480,
64535071451,
E453507145%2.

Question Number

To conduct a survey on facilities available for technical education
To regulate and momtor services given to persons with disability

To achieve planned and coordinated development of teacher education
system

To standardise syllabi

To maintain a Central Rehabilitation Register of all qualified professionals
and personnel

To lead nationwide quality movement
answer from the codes given below :
(b), (d) and (&)

(a), (b) and (¢)

(¢), (d) and (f)

(d), () and ()

[ N

: 146 Question Id : 64635018203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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g’
(a)
(b)
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ST

(¢) e Rren vomedt &1 Faifom ok waf<a Rer e s
(d) uTeT-fdavu B AF@ied S
(e) T e EILmi 3R B! B 41T Y=gy Ueieur
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1. (b),(d) 3R (e)
2. (), (b) 3R (c)
3. (o), (@R (D
4. (), 3RO

Options:

CAE3E071479. 1

425071480, 2

C4AE2E071481. 2

4525071482 4

Question Number

: 147 Question Id : 64635018204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

While teaching, a teacher quite often observes that a student is having learning

difficulties in comprehension, coupled with lack of concentration and showing
symptoms of being hyperactive. For such a case what will be the most plausible cause?
1. Paraplegia
2. Quadnplegia
3.  Spina bifida
4. Tourette syndrome

Options:
64535071483

.1



EAE35071484. 2
64535071485, 3
645350714586, 4

Question Number : 147 Question 1d : 64635018204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3ATYT & HH H, LIS AR U & & vo-Aendf &1 awsm A siftrm g9 i3 gkt
2 91y & USRIl ST 4T T8 € R I9H if-ufpaar & deav RE A g s o S
AFd & o Taffies Iyt s e g

1. R ORI
2. AQEATITd (@IS A
3. WEA EEihel

Options:

64635071483, 1
645350714584, 2
64535071485 =
48350714586 4

Question Number : 148 Question 1d : 64635018205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per National Sample Survey, what percentage of our population 1s counted as
disabled?

1. & percent
2.  2-8 percent
3. 4 percent

4.  2-1 percent

Options:
E4E35071457. 1

E4E3507 1488, 2
E4E35071489. 3
B4535071430. 4

Question Number : 148 Question Id : 64635018205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. swyfd=ma

2. 28 yawa

3. 4 vyfaRd

4. 2.1 ufoRa
Options:

64535071457, 1
E4E3507 1488, 2
E4E35071489. 3
B4535071430. 4

Question Number : 149 Question Id : 64635018206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following can be positive strength for normal children in inclusive
classrooms?

1.  Mental development becomes faster
2. Social skills develop easily
3.  Motor skills develop easily

4. Collaborative skills develop easily

Options:

4835071491, 1
4535071492 2
64535071492, 5
64535071494, 4

Question Number : 149 Question Id : 64635018206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071491, 1
4835071492 2
4535071492 =2
64535071494, 4

Question Number : 150 Question Id : 64635018207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the main features of inclusive classroom is

1.  teacher organizes the classroom with the scope of heterogeneity in the
classroom

2.  teacher takes special care of disabled children

3. teacher seeks the support of specialists to help the slow learners

4. teacher shows sympathy to disabled children
Options:
64635071495, 1
64635071496, 2
64635071497 3
64635071498, 4

Question Number : 150 Question 1d : 64635018207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535071495, 1
64535071496, 2
4835071497 2
4535071498 4



